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1.Write as a single logarithm. Evaluate if possible.

a) log ,32+log ,2 b) log ,,8+log ,1.25 c) log4+log5-log2
c) log ;108—log ;4 e) log ,8-log ;24 f) log ;6 —log ;3+log 42
g) log ,500—log ;4 h) log ,245+1log % i) log ,49°
T
1
j) log ,9% +log ,8% k) log 32} 1) log 339
m) 2log ,6-2log ;2 n) log 248—%10g227 0) %log69+log65

p) %log3144—log ,4-2log 3

2. Write as a single logarithm.

a) log ,a+log ,b-log ,¢ b) loga+2logb-3logc ) log,¥x —log,y’ +2log,z
d) —;—Ioga—4logb+logc e) 3log ;2+log ;4 f) 2log ,3+log 610—%log625

3. Do Math Modeling Book 3 (Iceberg) p.177 #1, 2 and p.180 #9, 10

4. Solve using the laws of logarithms.
a) log (x+2)+log,(x~4)=2 b) log(x+1)+log(x—2)=1 c) log,(2m—1)+log,m =%

d) log(x+1)+log x =1 €) 4logx+2logx=18 f) log,(x* +8) =log ,x+log ,6
g) log,(x—5)=1-log,(x+3) h) 7logx—2logx=10 i) log,2x+1)-log,(x—-2) =1

5. Do Math Modeling Book 3 p.181 #12.

6. Solve to 2 decimal places:

a) 37 =52 b)2:=7 c) (04" =5
d) 4% =90 e) 5 =63 f s =17
g) 10° =20 h) Math Modeling Bk.3 p.177 #3,4; p.181 #11, 12

7. If log ,,4=10.6020, find log ,,16 without using a calculator.

8. If log2 =0.3010,log 3 = 0.4771& log 5 = 0.6991, find without using a calculator:
a)log 6 b) log 1.5 c)log 10

- 10 19L10(Q 18LL70 (8
0P0ZT L 01'T(3 8600 6800 Z9T (P 94 1-( 182(qQ 09°c(®9 Sv (1 001 (4 9B 2 ¥ G 0001 (

= 9 € 7q €{{ : io 2 ¢ -
P ue®G v(@ 9y 81°30; ¢ zef 8oy (o (35/\ 301 (p e o1 (0 ) 301 (q - 801 (e

- s°8of (0 p@ z(w gz 1A SHEOIGzWEB ¢2G 1-6G £ 14 1(q €@ STAMSNY





